x ﬂl\d — Help Code : 010
By 10, 100 and 1000

RECOMMENDED! - mental maths TES resource % \_‘ @
Interactive + Seif-Marking ELICK HERE
~
' -
Complete these calculations. J Here are five number cards.

\ 15 X 100 = ‘0.47J [ 10 J [100} [1000} “.07’

Use four of the cards to complete these calculations.
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47 - =
+ 100 = 150 [ :
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150 + 10 = X = 40.7

More practice with the multiply symbol
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08 x
I3 x =313 ).
F5x =415 1)
342 x 1000 =
_x 100 = 341 L
067 x __ =6700 32).
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https://www.youtube.com/watch?v=u60m30akKw4&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ&index=14
https://www.youtube.com/watch?v=aqYuZir4niw&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=6
https://www.tes.co.uk/teaching-resource/Y6-KS2-SATs-mental-maths-question-generator-program-interactive-and-self-marking-11013595
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More practice with the divide symbol

100 =

300 + = [)8
M3+ =313

19
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AN+ =41
+ 1000 =

= 100 = 34 |
= (.67
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9000 + 1000 =
= 80

+ 100

e =70
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Self
Assessment

More practice - multiply ANSWERS
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More practice - divide ANSWERS
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